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Floma BTV Merm | B2 | ame | oo e | B | e [T e | B2 [T | B | M
; 100kN/mZ#8% % - -~ -|3mEEZS ~ - -| 100kN/ Mm% 2% - -~ -|3mEHERS -~ -
Zhst 1.00) 000 ~ 477 59.50 | #nList | 000 ~ 000171 917 Zhst 1.00 | 500 ~ 500 59.60 | st | 500 ~ 500|171 917
2 100kN/mZ#8% % ~ -|3mEEZS -~ - - -| 100kN/ Mm% %% - -~ -|3mEHERS ~
Zhst 1.00 ) 0.00 ~ 659 83.04 | Fnist | 000 ~ 0.00| 1.60 8.66 Zhist 100|500 ~ 850 83.04 | Thist | 500 ~ 850 | 1.60 8.56
3 100kN/mZ#8% % ~ -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
FhnLs 100|000 ~ 735 93.65 | TN | 000 ~ 735|256 12.65 Fhns 100|500 ~ 1000 93.65 | EnLSY | 5,00 ~ 1000 | 2.36 12.65
4 100kN/mM#%#BZ5| 1.00 | 000 ~ 030 10440 |3mERBZ3 -~ - - -| 100kN/m# 25 | 1.00 | 11.65 ~ 1250 | 104.40 |3mEEZS ~
Zhst 100|030 ~ 808 100.00| Tnis | 000 ~ 808|244 13.04 Zhst 100|500 ~ 1163 100.00| ThB4st | 500 ~ 1250|244 13.04
5 100kN/m%#8% % ~ -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Fhs 100|000 ~ 654 8248 | FhLlst | 0.00 ~ 654|280 14.99 FhnLs 100|500 ~ 1268 8248 | #nLSY | 5,00 ~ 1268 | 2.80 14.99
P 100kN/mZ#8% % ~ -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Fhs 100|000 ~ 612 76.81 | Fhilst | 000 ~ 612|287 15.37 Fhns 100|500 ~ 1248 76.81 | #nLSY | 5.00 ~ 1248 2.87 15.37
- 100kN/mZ#8% % ~ -|3mEEZS ~ -| 100kN/ Mm% %% - -~ -|3mEHERS ~ -
Fhs 100|000 ~ 692 87.65 | FhLlst | 000 ~ 692|272 14.53 Fhns 100|500 ~ 1248 87.65 | EnLSY | 5,00 ~ 1248|272 14.53
g 100kN/mM#%#BZ5| 1.00 | 000 ~ 033 10492 |3mERBZS -~ - - -| 100kN/m# 25 | 1.00 | 11.50 ~ 1246 | 104.92 |3mEBEZD ~
Fhs 100033 ~ 812 100.00 | Fhist | 000 ~ 812|242 12.95 Fhns 100|500 ~ 1150 100.00 | =nust | 5.00 ~ 1246 | 2.42 12.95
9 100kN/mZ#8% % ~ -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Fhns 100|000 ~ 656 8270 | #hst | 000 ~ 656277 14.84 Fhs 100|500 ~ 1226 8270 | #nLS | 6,00 ~ 1226 (2.77 14.84
0 100kN/mZ#82 % ~ -|3mEEZS -~ - - -| 100kN/ Mm% %% - -~ -|3mEHERS ~
Fhns 100|000 ~ 673 85.08 | Thst | 000 ~ 673|264 14.15 Fhs 100|500 ~ 1097 85.08 | #nLSY | 5,00 ~ 1097 2.64 14.15
11 100kN/m%#82 % ~ -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst 1.00) 000 ~ 671 84.69 | #nhbst | 000 ~ 671|207 11.07 ZFh st 100|500 ~ 991 84.69 | #hist | 500 ~ 991|207 11.07
12 100kN/m%#8% % ~ -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst 1.00) 000 ~ 570 71.19 | #hidst | 000 ~ 570|217 11.62 ZFh st 100|500 ~ 880 71.19 | #hidst | 500 ~ 880|217 11.62
13 100kN/mZ#8% % ~ -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst 1.00 | 000 ~ 496 61.81 | #nbst | 000 ~ 496 2.08 11.12 Zhst 100|500 ~ 651 61.81 | Thist | 500 ~ 651|208 11.12
14 100kN/mZ#8% % ~ -|3mEEZS -~ - - -| 100kN/ Mm% % % - -~ -|3mEHERS ~
Zhst 1.00 | 000 ~ 429 5358 | #nLIst | 000 ~ 429|199 10.66 ZFh st 1.00 | 500 ~ 5.00 53.68 | #nLlst | 500 ~ 5.00)| 1.99 10.66
100kN/mZ#8% % ~ ImEEZD ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zh s ~ Zhn st ~ Zh s ~ Zhn st ~
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